20224 395 A 202246 526H(H) 815104 ~ 9554  (1R5RI454)) LB7)|#HE2254C - WERE
TEAM 1 2 3 4 5 6 7 8 9 10 11 12 13 R H E
Bt Y5 bF4T—X 0 0 0 3 0 0 3 5 2
A Z3—L2R 0 3 4 0 2 4x 13 10 3
[ mvPGET®) | RE#HE 6EE |
| #28  | ®E&#F 35 LkEEKEE 25 | KAEX 45 \ | | \ |
| MVP(#%3F) | kR %EPT 1[EH |
[ BiBFE | AEBRA  2BOW |  w-7 | EEan 1S | H—AF | | | | |
BE XERA 11 | {EEEM 52
HERT &6 BT 11
#BIX: Xa—1LX
TIE 28 1 2 3 4 5 6 7 8 9 10 11 12 13 14 Tl % & &k M© &% X
1 KERK =R o3k o5k 1 1 2 167
2 TE A— |[=3m £2 (1) —=n 301 261
3 LEEE  |[#Eon AR (3) FeEk 201 1] 3 345
4 XA #X g g hE (3) 301 1] 3 324
5 KB E —n ki 201 .305
6 RAS B4 A (1) R Pl o 3.2 11 475
7 #HAR R TS FEEk £2 (1) 201 1 .283
8 Lt 1E—EAB = plisgm | o3k 2 11 .120
9 keI N ) F2 (1) =ik —n 301 11 226
10 WE AKX o3k UEEoT plisgm | 1 .154
11 4K B mEk (1) =ik 1 1 1 1 271
12 1 B2PY AR k2 201 1 .379
13 B SR =ik £2 (2) 201 201 1 .236
14 ik et B =® 2 .250
15 mnE KN UEESIY R 1 .353
ToTAL[30]10] 3713 4 7] 1| 3| 277
BE: HrI4bFA4T—X
fIIE | RFE £A 1 2 3 4 5 6 7 8 9 10 11 12 13 14 BRE T R AR M & HEER
1 aiTE =ik =ik B KERK ()
2 BiTE sk =2n a3k 4 19 4] 2 4 1 2] 324
3 aiTE =R R ()| BER ik 5eM (S)
4 4T 7R A (1) /R 2 8 1 |1 1 | 300
5 aiT#E 3 gm | R —ono
6 HiT#E a0 = =3n\ T T T T
7 aiT#E —% ER =ik
8 HiTE =iF =iF =-n T T T T
9 BT Rz PSS —n
HEEEEN
___ HEEEEN

6 271 5 2/ 5 2 2 400




